Answer on Question #59340 — Math — Trigonometry

Question

n 2 2=
The value 55 s a solution for the equation 4c0s™(4x)=3=0,

False

True

Solution
2
40052(4-%j—3: 4c052[%j—3: 4[%} -3=3-3=0.

Answer: True.

Question
Solve on the interval [0, 2T0:
(cosx + 1J[2c052x —3cosx-2)=0
T TT
x=2m, -:=?, -:=?
6' 2]
X=T :-<=2—n :-<=ﬂ
] 3 ] 3
_ _m . _5T
X=2Mm x= > , K= 2
Solution

(cosx+1)(2coszx—3005x—2):0, 0<x<2r;
cosX+1=0, 0<x< 27, 0r 2cos?x—3cosx—2=0, 0<x<2r;

cosX+1=0, 0<x<2r;



cosx=-1, 0<x<2r,

X=r,;

2c0s’ x—3c0sXx—2=0, 0<x<27;
D=(-3-4-2-(-2) =9+16 = 25;

3+
COS X = =
.2

ol

=2 or cosx:3—;5=—1, 0<x<2r;

N‘
N oo

COS X = 2 does not have real solutions on 0 < X < 27 ;

2 4
COS X = —— has solutions X:?ﬂ and X:?ﬁ on 0<x<2r.

T
Answer: X:?, X=—.

Question

[ (158 Y
cotl cac=Y — : ;
Evaluate cof|cos l 1 ]J Enter your answer as a fraction using the slash

=
¢

bar /)_

Solution

cot(cos ™ (x)) = x/V1-x?;

2
cot COSI(—E] :_E/ 1_(_Ej :_E/EZ_E:—]_B?S_
17 17 17 17 17 8

Answer: —15/8.
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